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Name:                                                 Weekly Math Review – Q2:5              Date: 

Monday Tuesday Wednesday Thursday 
The zoo fed their tigers 8 
pounds of food yesterday 
and 10 pounds of food 
today.  How many pounds of 
food did they use in all? 

There are 12 markers in the 
red box, and 6 markers in 
the blue box.  How many 
more markers are there in 
the red box than the blue 
box? 

Susie got 12 stickers for her 
birthday.  She gave 3 to her 
sister.  How many does she 
now have? 

It took Grace 3 minutes to 
brush her teeth, 5 minutes 
to get dressed, and 8 
minutes to eat breakfast.  
How long did it take Grace 
to get ready? 

How many tens are 
there in 770? 

 

Draw 281 with base ten blocks 
in the place value chart. 

 

 
 

Hundreds Tens Ones 
 

 
 
 
 

  

Write the number. 
 
 

8 ones 

14  tens 

1  hundreds 

 

Fill in the blank. 
 
 

82 tens is the  
same as _____. 

Count forward by fives. 
 
88, _____, _____, _____ 

Count forward by tens. 
 
121, _____, _____, _____ 
 

Count forward by hundreds. 
 
400, _____, _____, _____ 

Count forward by fives 
 
65, _____, _____, _____ 

Write the number in 
standard form. 

 
 

200 + 50 + 8 

Write the number 609 in 
word form. 
______________________

______________________

 

 

Write nine hundred forty-six 
in standard form. 

Write 720 in expanded 
form. 
 

Compare the numbers using 
>  <  = 

 
   999              777 

Compare the numbers using 
>  <  = 

 
   911                199 

Compare the numbers using 
>  <  = 

 
   306              360 

Compare the numbers using 
>  <  = 

 
   300              three 
                     hundred 

 

 

Which type of food did the 
most people choose? 
 
 
Which type of food did the 
fewest people choose? 

How many more people 
chose pizza than hot dogs? 
 
 
How many fewer people 
chose hot dogs than 
hamburger? 

How many more people 
chose hot dogs than pasta? 
 
 
How many fewer people 
chose pasta than pizza? 

Solve. 
8 + 5 = ___ 
12 – 7 = ___ 
9 + 10 = ___ 
 

 

Solve. 
3 + 7 = ___ 
9 + 5 = ___ 
8 + 9 = ___ 
 

 

Solve. 
12 + 5 = ___ 
17 – 6 = ___ 
8 + 12 = ___ 
 

 

Solve. 
8 + 7 = ___ 
9 + 1 = ___ 
8 + 4 = ___ 
 

 What addition problem is 
shown below? 

 
What is the answer? 

What addition problem is 
shown below? 
 

 
What is the answer? 

Draw and use base ten 
blocks to solve 46 + 35 

Use the blank numberline 
below to solve 63 + 25. 
 

 

 

 

13 - 5 = ___ 
8 + 11 = ___ 
17 – 8 = ___ 

3 + 1 = ___ 
4 + 4 = ___ 
9 + 8 = ___ 

17 - 9 = ___ 
13 + 4 = ___ 
12 – 5 = ___ 

6 + 2 = ___ 
5 + 4 = ___ 
4 + 8 = ___ 
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My Work 
Monday 

 
 
 
 

 
 
 

Tuesday 

Wednesday 
 

 
 
 

 
 

 

Thursday 

 

My Progress 
MONDAY 

# of questions _____ 
# correct _____ 
I need more help 
with… ____________ 
________________ 
________________ 
________________
________________
________________ 

TUESDAY 
# of questions _____ 
# correct _____ 
I need more help 
with… ____________ 
________________ 
________________ 
________________
________________
________________ 

WEDNESDAY 
# of questions _____ 
# correct _____ 
I need more help 
with… ____________ 
_________________ 
_________________ 
_________________
_________________
_________________ 

THURSDAY 
# of questions _____ 
# correct _____ 
I need more help 
with… ____________ 
________________ 
________________ 
_________________
_________________
_________________ 
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Answer Key - Weekly Math Review – Q2:5 

Monday Tuesday Wednesday Thursday 
The zoo fed their tigers 8 
pounds of food yesterday 
and 10 pounds of food 
today.  How many pounds of 
food did they use in all? 18 

There are 12 markers in the 
red box, and 6 markers in 
the blue box.  How many 
more markers are there in 
the red box than the blue 
box? 6 

Susie got 12 stickers for her 
birthday.  She gave 3 to her 
sister.  How many does she 
now have? 9 

It took Grace 3 minutes to 
brush her teeth, 5 minutes 
to get dressed, and 8 
minutes to eat breakfast.  
How long did it take Grace 
to get ready? 16 minutes 

How many tens are 
there in 770? 

77 
 

Draw 281 with base ten blocks 
in the place value chart. 

 

 
 

Hundreds Tens Ones 
 

 
 
 
 

  

Write the number. 
 
 

8 ones 

14  tens 

1  hundreds 
 

Fill in the blank. 
 
 

82 tens is the 
same as 820. 

Count forward by fives. 
 
88, 93, 98, 103 

Count forward by tens. 
 
121, 131, 141, 151 
 

Count forward by hundreds. 
 
400, 500, 600, 700 

Count forward by fives 
 
65, 70, 75, 80 

Write the number in 
standard form. 

 
 

200 + 50 + 8 

Write the number 609 in 
word form. 
Six hundred nine 

 

Write nine hundred forty-six 
in standard form. 946 

Write 720 in expanded 
form. 
700 + 20 

Compare the numbers using 
>  <  = 

 
   999      >        777 

Compare the numbers using 
>  <  = 

 
   911       >       199 

Compare the numbers using 
>  <  = 

 
   306      <        360 

Compare the numbers using 
>  <  = 

 
   300      =       three 
                     hundred 

 

 

Which type of food did the 
most people choose? pizza 
 
 
Which type of food did the 
fewest people choose? 
pasta 

How many more people 
chose pizza than hot dogs? 
3 
 
How many fewer people 
chose hot dogs than 
hamburger? 2 

How many more people 
chose hot dogs than pasta? 
1 
 
How many fewer people 
chose pasta than pizza? 4 

Solve. 
8 + 5 = 13 
12 – 7 = 5 
9 + 10 = 19 
 

 

Solve. 
3 + 7 = 10 
9 + 5 = 14 
8 + 9 = 17 
 

 

Solve. 
12 + 5 =17 
17 – 6 = 11 
8 + 12 = 20 
 

 

Solve. 
8 + 7 = 15 
9 + 1 =10 
8 + 4 = 12 
 

 What addition problem is 
shown below? 32 + 45 

 
What is the answer? 77 

What addition problem is 
shown below? 48 + 26 
 

 
What is the answer? 74 

Draw and use base ten 
blocks to solve 46 + 35.   81 

Use the blank numberline 
below to solve 63 + 25. 
88 
  

 

258 

248 

13 - 5 = 8 
8 + 11 = 19 
17 – 8 = 9 

3 + 1 = 4 
4 + 4 = 8 

9 + 8 = 17 

17 - 9 = 8 
13 + 4 = 17 
12 – 5 = 7 

6 + 2 = 8 
5 + 4 = 9 

4 + 8 = 12 


